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No FE MEE B2 (rd) P

1 H11 IR 1 36 1

2 H14 RHEMAEE T BH1RIS 1 24 1

3 H15 = 1LIEAPIETIRIE 1 40 2

4 H17 e Bl HATHaFEER 1 40 2

5 H19 REFEFIRHRAT 1 40 2

6 H21 HAZENT EHEA 4 6 5.2 1

7 H21 AP L EAER 14 40 1 (&2
8 H22 FFLmEAER 5 40 1

9 H22 AR LT EB AR 15 40 1132
10 H22 AF LA BB AER 5 40 2

11 H23 R 1RFR 1 22 1

12 H23 EFERNRE 1 20 1

13 H24 FFnLhERs B 5 40~60 2
14 H24 EFERNZE 1 40 1

15 H24 Iy B2 FEHATIRIE 1 40 2

16 H24 B3R = Eh R AER 1 30 i)
17 H24 5401255 KBTS Bh A SR 1 400 2

18 H24 RBRAFAAR T E B A2 4 40 1

19 H25 MEEThERERE 1 40 1

20 H25 ZERIRIGHATEER 1 40 2

21 H25 SEhLEE S M= 1 40 1

22 H25 )1 |7 SR AR 1 40 2

23 H25 SR EBAER 1 40 1

24 H25 TR EERE LD VIR 1 40 1

25 H25 RiEME 1 40 L
26 H25 S UTAGESS T KERR 1 48 L
27 H25 FFRLTERA 5 40~60]| 1X%2
28 H26 ABRATE HAAT 1 45 2

29 H26 ST AR 1 66 L
30 H26 ZMEILET1RIE 1 40 1
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